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EDUCATION (General)

Full Marks : 30

Paper Code : III-A
[New Syllabus]

Time : Thirty Minutes

Subject Code :

Subject Name :

A

&

B

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

¢ There is no negative marking for wrong answer.
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Answer all thequestions.
Choosethe correct answer.

Each question carries2 marks.

1. Which of the following is the highest level of measurement ?
(A) Ordind Scde
(B) Nomina Scae
(C) Intervd Scde
(D) Rétio Scde
S| e @A sifEsiesm A o= e
(A) P
(B) P
(C) TP
(D) SEArETe
2. The full form of NRT is
(A) Norm Referenced Test
(B) Numerica Referenced Test

(C) Neutra Referenced Test
(D) Natural Referenced Test

2| NRT @3 sjcat 26 251 —
(A) Sfefes amfEe eemw
(B) Akerfeies @pifere Sror
(C) st e srer!
(D) FeIRS 2P ST
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3. Who coined the terms formative and summeative evauation ?
(A) Gdton
(B) Bloom
(C) Scriven
(D) Binet
O (F FNITETE @ ANAAS JETR *(H SIS (e 2
(A) STI=5
(B) g
(C) fren
(D) faed
4. Evduation is useful for students becauseit —___ them.
(A) Pressures
(B) Motivates
(C) Helps
(D) Encourages

8 | RFRITITE & eI SIore AiemR JRel @b oivm A
(A) BIifR
(B) czmel ARSI
(C) ==y
(D) Teifze
5. Which of the following is not a type of vdidity ?
(A) Content
(B) Construct
(C) Predictive
(D) Test Retest
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¢ | Fwa @b 7dfeor gFw Tae
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(A) ReEzaesie
(B) FoSTTE
(C) Sfmre TR
(D) seeoidrse
is/are the characteristics of a good test.
(A) Vaidity
(B) Rdiability
(C) Objectivity
(D) All the above

e o e @

(A) Teitefs

(B) fr&aatamet
(C) wfemel
(D) ToIaa A0

is the best measure of Central Tendency.
(A) Mean
(B) Median
(C) Mode
(D) None of these
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U T FUR A6 AR e TeFE olfqwist |
(A) T
(B) w0
(©) Gre
(D) @HbE T
8. Second quartile is dso known as
(A) Mean
(B) Median
(C) Mode
(D) None of these

vifrom sedicd __ qiewe #Afsfoe
(A) T
(B) q«rsIIe
(©) cre
(D) o2 ==

9. Who developed the concept of 1.Q. ?
(A) Alfred Binet
(B) L.M. Terman

(C) William Stern
(D) David Wechder

S| & IOET g Tl 2
(A) SIS [
(B) @&. @3 BRI
(C) Tferast 351
(D) ©fvs (e
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10. Which of the following is not the measure of persondity ?
(A) Projective Techniques
(B) Psychophysicd Method
(C) Sociometric Techniques
(D) Interview

so | [Nba @A Iferw s safe w32
(A) efozem ST
(B) acIfree siafe

[

(C) IS SIYeTE STt

(D) AT
11. Which of the following is a messure of co-efficient of correlation ?
(A) AD.
(B) SD.
(C) Q.D.
(D) Rank Difference
>y | v @ sreifen smelicas sifzsie 2
(A) @ pfe
(B) e
(C) vgdien pfe
(D) = Al
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12. Who contributed the method of Product Moment ?
(A) Spearman
(B) Pearson
(C) Gdton
(D) Guilford

S| (P (AT GG o a6 forem 2
(A) Pt
(B) formzer
(C) smi=B
(D) fomcre
13. Which of the following will not serve as a group guidance technique ?
(A) Class tak
(B) Group discusson
(C) Role play
(D) Interview
so | s @ial werste Mo (e Reta wiee wnel |
(A) EFFLT
(B) 1SS SIICsTIDA
(C) gim =i
(D) AT

Page: 8 of 12



14.

Which of the following types of counselling is dso known as ‘Client Centered’
counsdling ?

(A) Non Directive Counsdling
(B) Directive Counsdling

(C) Edectic Counsdling

(D) Group Counsdling

v8 | Hba @19 29 S Client Centered’ I Wite «fHbe?

15.

el

(A) ererF A
(B) Sierer® ot
(C) == oIl
(D) wsiore oRarfae

gave the concept of eclectic counsdling technique.
(A) Williamson
(B) Carl Rogers
(©) C. G Jung
(D) F. C. Thorne

— AER oaMiEE e g i |

(A) TR
(B) s &
(C) ™. fa. 33
(D) aw. &, aff
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2020

EDUCATION (General)

Paper Code : III-B

[New Syllabus]
Full Marks : 70 Time : Two Hours Thirty Minutes
The figures in the margin indicate full marks.
A. Answer any two questions : 15x2=30

1. What is essay type test ? Mention the merits and demerits of essay type
test. 3+6+6=15

2. What are the measures of variability ? Caculate Quartile Deviation (QD)
from the following digtribution :

Score | 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 4549 | 50-54 | 55-59
f 6 12 16 18 19 17 14 n 7

N =120
4+11=15
3. Define guidance. Write the nature and scope of guidance. 5+10=15

4. What are the causes of maladjustment ? Describe the role of a teacher
in preventing maadjusted behaviour of children. 8+7=15

B. Answer any two questions : 10x2=20
1. Write a note on tools of evaluation.

2. Write a note on Test Retest Method of Rdiahility.
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3. Write in details the various data needed for guidance.

4. Mention the difference between individua and group counsdling.

C. Answer any four questions :

© N o a M~ w N P

. @@ 90 eE Ted wie

What is defence mechanism ?

What is Cumulative Record Card ?

Write the criteria of good adjustment.

BECRIG

What do you mean by vdidity of atest ?

What is the best measure of central tendency and why ?

What are the advantages of directive counsdling ?

Mention the difference between measurement and evauation.

5%x4=20

Mention the difference between educationa and vocationa guidance.

SEXI=9o

S | TS SrorE e aoaiadt SrorwE Rt @ spifdief S 391

O+HV+HV=5 ¢

| Raselm Afasiefs e fwa @ 3% @ vedicd [pfs (Q.D.)

faefar =9
@F | 1519 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49 | 50-54 | 55-59
AR 6 12 16 18 19 17 14 1 7
N =120
8+55=5¢
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o | fqoHmE kel we | o afe g oifdfa @12 e+30=3¢

8 | wopEifon el 6 Wax W SepEiors oibad dfetie aaes
e SRl Il 4 | AN

4. [P Y AeE Ted wiS SoX3=30
S| Bl @19 PRI SHATRe |
3| OIFl (12 : 2T, Sfesi e oS |
o | foMaE T e [ swefl geei@ Sae 41
8 | WfET© @ WS AT N #/12F Teare T4 |
5. @@ SR deid Ted nie - @x8=30
S | SETRE € SAfFEI s ANy S 391
2| RS ReEdeg e
©| (FHE gIerel SAfFHIAT FAw TeFT Aol [ a3 @
8| (I SrerFR Tl Ferce o F @RI
| efogmrd (e e e
Y| o TEfefRaiee *efe @14 |
q | PR ¢ JfeTes fNoeRE S sy S 391
v | SerE SRR el [
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EDUCATION (General)
Paper-VII
[Old Syllabus]

Full Marks: 100 Time: Three Hours

The figures in the margin indicate full marks
Answer any three questions, taking at least one from group — A and Group — B. for Group —
C and Group — D, answer as per direction.

Group-A

1. Write your opinion about the need of measurement in education. Show difference
between norm-referenced and criterion-referenced tests. 6+10=16

2. Classify in detail, the instruments, used in educational measurement. What are the

types of scales that educationist use in measurement?
10+6=16

3. Describe the characteristics of a good measuring instrument. How would you
determine the objectivity of a measuring instrument?
9+7=16

4. What are the general principles of construction and standardization of a test? Write a
short note on cumulative record card.
10+6=16

Group-B

5. Define Educational Statistics. Why is statistics significant in the field of education?

How does statistics differ from parameter?
4+6+6=16

6. What are the measures of central tendency? Calculate median of the following
distribution of scores. What are the uses of mode?
4+9+3=16

Score 15-19 20-24 25-29 30-34 35-39 40-44 45-49 50-54 55-59
f 1 7 14 0 12 8 2 6 5 N=55



7. What are the measures of variability? Calculate quartile deviation (Q.D.) of the

following distribution of scores. 4+12=16

Score 90-99 80-89 70-79 60-69 50-59 40-49 30-39 20-29 10-19
f 1 1 5 12 6 7 4 3 6

N=45

8. Draw a normal probability curve. What are the properties and uses of a normal

probability curve?
4+7+5=16
Group-C
9. Answer any four questions: 10x4=40

(a). Discuss the relation between measurement and evaluation.

(b). Write about errors in measurement.

(c). How would you determine the validity of a measuring instrument?
(d). Discuss the projective tests of measuring personality.

(e). Write about the types of objective type test.

(f). Discuss the scope and importance of Educational Statistics.

(9). Calculate Standard Deviation (S.D.) of the following distribution of scores.

Score 66-64 63-61 60-58 57-55 54-52 51-49 48-46 45-43 42-40

f 1 4 6 8 9 14 8 7 5) N=62
(h). Discuss about skewness and kurtosis with graph.
Group-D
10. Answer all the questions:

1x12=12
(a) Who gave the concept of formative evaluation?
(b) What is content validity of a test?
(c) Give one example of group intelligence test.
(d) Define norm of a test.
(e) Write one demerit of essay type test.
() . .eeerenneee. ... IS the best measure of central tendency (Fill in the gap).
(9) Compute median of the scores: 6, 12, 18, 20, 6, 10

(h) Second quartile is also known as........................... (Fill in the gap).



(i) Define percentile rank.
(1) What is ogive?
(k) Z score is a type of

score (Fill in the gap).

(I) Give one example of usefulness of computer in the field of education.
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